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M.B.A. Semester-IlI Eraminrtiotr

MANACEMENT OF INDUSTRIAL RELATIONS

Paper-MBA/3301/H

'fime : Three Hoursl [Maximum Mark : 70

Note :- (1)a Aftempt ALL questions.

(2) Figures to thc right indicate full marks.

SECTION_A

I . (a) How Industrial Relations problems in Public sector compa.nies ditler ftom Industrial Relations

problems in Public limited companics. ? Discuss. 14

OR

O) Discuss how Industrial Relations are influenced by Socio-economic changes in India. l4

SECTION_B

2. (a) IIow workplace conflicts can be prcdicted ? Explain. '7

(b) Pawan Aluminium is profit making company. Management announccd Rs. t0,000/- as

Dirdi Bonus to all $orkcn. Production Department workeE demanded more ofbonus than

other departments claiming that their contribution is more. Management r€fused their denrand

which gave emergence to Industrial dispute. As IR expert, how can you resolve this issue ?
'1

OR

(c) Explain grievance bandling procedure in briet 7

(d) The wofters ofAshok Chemicals are in the habit ofviolating the rules ofdiscipline fttquently.

You as HR consultant, deputEd to tackle the issue. How will you deal wilh this issue of
indiscipline ? '1
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3. (a) What is co-owncrship'l Discuss. '7

(b) Vinod fabrication is a medium scale compaoy. CEO of a complur-v wishcs to introduce tho

conccpt of'Shop Council'lo incrcase workers panicipation in decision making. You arc

ItR Manager in the company. Ilorv uill you help CLO to form shop council 'l 1

OR

(c) l,xplain the prerequisites for productivc bargaining. 7

(d) N,\r. Singh hasjoinr:d as CEO ol'Ajir Pharma. lle studied the rvorking ofa company for a
month and obssn-cd thal there is no involvement of workers ih decision making. He is of thc
vicw that ifpanicipativc management approach is used the perlbrmance ol the company can

bc imprcved. You as IIR corlsultant are asked to implement the worker participation prog"m
ir a company. How will you do it ? 'l

Sf,CTION-{
4. (a) What do -r,ou undersland by conciliatiol ? 7

(h) l,rplain thc role oflabour administralior in Ifldustrial relations. '/

OR

1c) 'Qualiq'Circle is a tool ofemployes empowcrment' Discuss. 7

(d) Explain the lelm adjudication with examples. 7

SECTION-I)

5. Alhan'a lVerals is a mamufacturing compim-v There are tlree unions in the company and one union
is recognised. 'I he company is facirg ftequent labour problems. Management do not havc heal$y
relations with'frade l-lnion. Thcre is alNays a dispute bctween managcment and Trade Union.
Ncw CEO is plannihg to havc more work on contract basis so that l]nion will not be able to
crcate problem. llut Ibr this rcgular manpower will have to be reduced. Trade unions came to

know about this and started opposing the move ofmanagemem. Union also threatened maiagemcnt

to go on strikc ifthe codtracl syslem is adopted.

Qucstions i

(l) Analyse the case. 3

(2) Ilow managcrnent can reduce thc manpower so that Union will not havc objeclion ? 5

(3) Is the dccision of CEO corrcct ? Justif your answct. 6
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